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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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10:05 57 50.0 = RRi%@10:05 Bzh (RAEESE)
11:45 57 50. 0 =] Rige11:45 B (GRS
13:30 57 50.0 F BRi%e13:30 Bz (GRAERSE)
15:00 57 50. 0 F[ BRige15:00 Bz (GRAERSE)
Bit| 342.0 (6%) 300.0 ZHIKEC: 2292.0, PH: 6.5

FOREBATHC R IRAREIZIN (57 vs 76.0))
ELIASEPRIERE38. 0 ml.

REXFEBPH (10.28) 5i&%EPH (6.5) RER K, BFHRE
REXEBPH (10.28) S5FMIPH (6.5) REKKA, BFHRE
[BIi&EC (2240.0 vs 2375) w1k

EXRGEBIPH (10.4) 5% EE (6.5) REKK, BRE.

EOREEPH (10.4) SHEREN (6.5) REKKA, BHAE.
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EOREBIRTC R IRAE R (61 vs 76.0))
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10:10 48 40.0 [&=| {Ri%e10:10 B3 (REAHERESE)
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15:00 48 40.0 FA| 1Ri%@15:00 B3 (KRAHEREEE)
Bit| 288.0 (6%) 240.0 3ZHKEC: 2370.0, PH: 6.5

EREBRIR LTSN (0.53 vs 0.6), FIREA S MEENEBEESKERE
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ZRIASERRIERE28. 0 ml.

FERSERIPH (10.32) 5igEPH (6.5) REKK, BT
BEXRERIPH (10.32) 5FMPH (6.5) REK K, HRE

FURGEBIEC (1970.0) 5 E{E (2370.0) REK K, BT,
LOREBIEC (1970.0) S51EHEIEY (2370.0) REKK, BRE.

LRGEBIPH (10.4) 5i8FE (6.5) RERKK, BFRE.

EORGEEBPH (10.4) S5R&RAGEY (6.5) RERK, FRE.




G3-4_0, Day=11 (2025-05-23)

e e e e e g S D . S L 400

30 A

20 A

10

1

40 {

w
o
1

N
o
1

250
194

150
116
I I Warning: lcol [FVI',| "FVO’'] missing

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

~ v
FRV

A A_SM_ARASA A VTS

FRV (ml plant-1)
=)
1

—_
o

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

0.0
2500

2250

2000 -

1750

1500 ~

—>&—  ECB*10%
[ ECC

10

TargetPH=6. 5, TargetSetPHZG.i ®

e o

—
®

PHB*
PHC

10% #

75

50 -

ET (ml/hr/plant)

25 A

-—

2
0 | 1 3] 4|5

6

10 11 12 13

& & & ©

(=23
o
o

=T

N

S

)
cumET (ml/plant)

T
N
o
(=}

18

19

20

21

22

73 T 8o

100

BH 1 B | s [ A5 [ A5 [ RS

[

E3 ES HHE E3
B 5] B

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

75

50 -

25 A

ET (ml/hr/plant)

ByEt @D11 19:09: ET=320 Fg=330.0 Ro=nan

T
S
o
o

T
N
o
(=}

cumET (ml/plant)

100

6

7

8

9

10 11 12 13

18

19

20

21

22

73 T 8o

) a—— 4
0 1 2 3 4 5
TR | 8 | A | B8 | A | W

FA

%=

%=

2N EZSEZIEZI N

FA

A

FA

FA

%=

%=

ER

E3
B

ES
5]

75

50 -

25 A

ET (ml/hr/plant)

1.0

]
ByWoFv @D15 01:36: ET=276 F

= ———————

g=240.0 Ro=9.0

® ¢

T
S
o
o

T
N
o
(=}

cumET (ml/plant)

10 11 12 13

16

17

18

19

20

21

22

23

0.8

. 2
7

4 | 5
FH BH A FH BH

FA

FA

A

FA

FA

%=

%=

ER

E3
B

ES
5]

0.6

0.4+

0.2~

0.0

1500 ~

1000

500 ~

—@— PPFD obs

|
| _obs

RH
RH_obs
RHo_obs

VPD P

0

0



m=400, FV0=0 m=445, FV0=0 m=505, FV0=0

—o— ME —o— ME —o— ue | 247 —o— ME
_— 27.8 -
27.2 -
27.6 -
27.0 A
27.0 -
27.4
26. 8 -
_— 26. 8 -
26. 6 - 27.0 - 26. 6 -
T T T T T T T T T T T T
600 800 1000 400 405 410 445 450 455 505 510 515
m=560,m FV0=0 m=605,m FV0=0 m=665,m FV0=0 m=725,m FV0=0
—o— wmE | 2707 —— NE —e— mE | 2687 —o— NE
26. 8 -
26. 8 - 26. 6 -
26. 6 -
26. 6 -
26. 4 -
26. 4 -
26. 4 -
26. 2 - 26. 2 1
26.2 1
T T T T T T T T T T T
565 570 605 610 615 665 670 675 725 730 735
m=780,m FV0=0 m=865,m FV0=0 m=930,m FV0=0 m=1005m FVO0=0
—e— ME 26.8 1 —o— ME —e— ME 21.0 1 —e— ME
26. 8 -
26. 6 - 26. 8 1
26. 6 -
26. 6 -
26. 4
26. 4 - 26,4 ]
26.2 -
26.2 26.2 -
26.0 -
785 790 865 870 875 930.0 932.5 935.0 937.5 940.0 1005 1010 1015
m m=400,m FV0=0 m=445,m FV0=0 m=505,m FV0=0
—— MW —— MW —— MW —— MW
26. 8 27.4 4 27.9
26. 6 - 21.2 1 27.0 -
27.0 A
26. 4 26. 8 -
26. 8 -
26.2 - 26. 6 -
26. 6 -
26.0 - 26. 4 -
600 800 1000 400 405 410 445 450 455 505 510 515



27.

27.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

25.

m=560, FV0=0

—— MW

560

5é5
m=780,n FV0=0

T
570

—0— MW

780

T
785

790

27.

26.

26.

26.

26.

26.

26.

26.

26.

25.

m=605, FV0=0

—0—

M_w

605

6%0
m=865,n FV0=0

T
615

—0—

M_W

865

870

875

26.

26.

26.

26.

26.

26.

26.

26.

26.

25.

m=665, FV0=0

—0—

M_W

665

6;0
m=930,n FV0=0

T
675

8_

—0—

M_W

T
930.0

T
932.5

T
935.0
m

T
937.

T
5 940.0

26.

26.

26.

26.

26.

26.

26.

26.

26.

25.

m=725, FV0=0

——

M_W

725

730
m=1005n FV0=0

T
735

——

M_W

T
1005

T
1010

T
1015




